: Calculator ACTIVE
Points Earned 14 13 12/11 10/9 8/7 ‘-“-‘_
Grade 100 94 89 84 79 m-mﬂ-

Let R be the region in the first quadrant bounded by the x-axis and the gr aphs X
ofy =Inx and y = 5 — x, as shown in the figure below. y 5

XY= S’B K= 5“5
K= -Y+s ¥=ed

a) Find the areaof R. 5

Aj@m«)éx + f (5-0dx
‘ A

2,985 or 2,980

|y-eDay |
= X

OR ¢

ion perpendicular to thd x-axElis square.

b) Region Ris the base of a solid. For this solid, each cross sect

Find th;\volume of the solid. 5 % i t:‘;i;m
) X liwi

dyc 4 -~y d |

j@w@ x| (G dx Doancwer

|

A 2,73 4

The h'oriz.ontal l'ine@'g k divides R into two regions with equal areas. Write, but do not solve, an
equation involving one or more integrals whose solution gives the value k ,

3
f(‘s—g—-eg)dt& = (Z-Q’E’)@ | @mfegmmot
3 o
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Extension Que.fHo ns .

0(> A= EL_Trf?‘Z d=(nx) d= 5__5:;4
A;%TC(&QE_> V‘:(»@g} K= 2 =X
A= = ( )T
A 5
%:J@V‘@Z dx -I—%\](g_x)'lax

T(aom) + L1438 = F(2,784)

, 501 + ,292

.093%
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